

A remark on CR-structures

Geeta Verma¹ and Kripa Sindhu Prasad²

¹*Department of Mathematics
Shri Ramswaroop memorial group of professional colleges,
Lucknow, India.*

²*Department of Mathematics
Thakur Ram Multiple Campus Birgunj
Tribhuvan University, Nepal
Email¹ : geeta.verma15@gmail.com
E-mail² : drkpkandey65@rediffmail.com*

Received : August 13, 2021

Accepted : October 10, 2021

Published : January 27, 2022

The present paper aims to establish the relationship between CR-structure and the quadratic structure and find some basic results. Integrability conditions and certain theorems on CR-structure and the quadratic structure are discussed.

2020 Mathematics Subject Classification: 53C15.

Keywords: CR-structures, Almost complex structure, Nijenhuis tensor, Integrability.

1. Introduction

The tangent bundle of submanifolds in the differential geometry is very fascinating. There are many types of submanifolds regarding the almost complex structure of the ambient manifold, but we consider main three, namely, given as holomorphic submanifolds, totally real submanifolds, and CR-(Cauchy-Riemannian) submanifolds. Bejancu ¹ has deliberate CR-submanifold of a Kahlerian manifold in which a new class of submanifolds of the complex manifold was start off. Bejancu has launched the concept of CR-submanifold and produce its basic effects. Numerous investigators made treasures contributions to CR-submanifolds including Bejancu ², Blair and Chen ³, Chen ⁴, Dragomir at el ⁵, Yao and Kon ¹⁵ and Khan ^{8 9 13}. In this paper, we study the integrability conditions and Nijenhuis tensor on CR-structures and the quadratic structure.

Let us suppose the quadratic equation $x^2 + x + 1 = 0$. The set of solutions denoted by $x = \frac{1}{2}(1 \pm \sqrt{3}i)$. In n -dimensional manifold M , consider a tensor field $F(\neq 0)$ of the type $(1, 1)$ and of class C^∞ on M such that

$$F^2 + F + I = 0 \quad (1)$$

such structure on M is called the quadratic structure of rank r . If the rank of F is constant and $r = r(F)$, then M is called the quadratic manifold.

The projection operators are given by

$$l = -(F^2 + F), \quad m = I + F^2 + F \quad (2)$$

where I denotes the identity operator on M .

Proposition 1.1 Let M be the quadratic manifold. Then

$$l + m = I, \quad l^2 = l, \quad \text{and} \quad m^2 = m. \quad (3)$$

Proof: Making use of equation (2), the theorem can be easily proved.

For $F \neq 0$ satisfying equation (1), there exist complementary distributions D_l and D_m corresponding to the projection operators l and m respectively. If the $\text{rank}(F) = \text{constant}$ and $r = r(F)$ on M , then $\dim D_l = r$ and $\dim D_m = n - r$ ^{7 8}.

Proposition 1.2 Let M be the quadratic manifold. Then

$$Fl = lF = F, \quad Fm = mF = 0 \quad (4)$$

$$F^2 + F = -l, \quad (F^2 + F)l = -l, \quad (F^2 + F)m = 0. \quad (5)$$

Thus $(F^2 + F)^{\frac{1}{2}}$ acts on D_l as an almost complex structure and on D_m as a null operator.

Proof: Making use of equation (1), the theorem can be easily proved.

2. Nijenhuis tensor

Definition 2.1 If X, Y are two vector fields in M , then their Lie bracket $[X, Y]$ is given by ⁷

$$[X, Y] = XY - YX. \quad (6)$$

The Nijenhuis tensor $N(X, Y)$ of F satisfying equation (1) in M is expressed as follows

$$N(X, Y) = [FX, FY] - F[FX, Y] - F[X, FY] + F^2[X, Y], \quad (7)$$

for every vector field X, Y on M . Now, state the following proposition ¹⁴ for later use:

Proposition 2.1 A necessary and sufficient condition for the quadratic structure F to be integrable is that $N(X, Y) = 0$ for any two vector fields X and Y on M .

3. CR-structure

Suppose M be a differentiable manifold and $T_c M$ is complexified tangent bundle. A CR-structure on M is a complex subbundle H of $T_c M$ such that $H_p \cap \bar{H}_p = 0$ and H is involutive, i.e., for complex vector fields X and Y in H , $[X, Y]$ is in H . In such case we can say M is a CR-manifold. Let F be the quadratic integrable structure satisfying equation (1) of rank $r = 2m$ on M . We define complex subbundle H of $T_c M$ by $H_p = \{X - \sqrt{-1}FX, X \in \chi(D_l)\}$, where $\chi(D_l)$ is the $\wp(D_m)$ module of

all differentiable sections of D_l . Then $Re(H) = D_l$ and $H_p \cap \bar{H}_p = 0$, where \bar{H}_p represents the complex conjugate of H ⁷.

Proposition 3.1 Let $P, Q \in H$, then we have

$$[P, Q] = [X, Y] - [FX, FY] - \sqrt{-1}([X, FY] + [FX, Y]), \quad (8)$$

for every vector field X, Y on M .

Proof: Consider $P = X - \sqrt{-1}FX$ and $Q = Y - \sqrt{-1}FY$. Then we have

$$\begin{aligned} [P, Q] &= [X - \sqrt{-1}FX, Y - \sqrt{-1}FY] \\ &= [X, Y] - [FX, FY] - \sqrt{-1}([X, FY] + [FX, Y]). \end{aligned}$$

Proposition 3.2 If the quadratic structure satisfying equation (1) is integrable, then we have

$$(F + I)([FX, FY] + F^2[X, Y]) = -l([FX, Y] + [X, FY]), \quad (9)$$

for every vector field X, Y on M .

Proof: Since $N(X, Y) = 0$, from (7) we get

$$[FX, FY] + F^2[X, Y] = F([FX, Y] + [X, FY]) \quad (10)$$

multiplying equation (10) by $F + I$, we get

$$(F + I)([FX, FY] + F^2[X, Y]) = (F^2 + F)([FX, Y] + [X, FY]) \quad (11)$$

making use of equation (2), we obtain

$$(F + I)([FX, FY] + F^2[X, Y]) = -l([FX, Y] + [X, FY]) \quad (12)$$

This completes the proof.

Theorem 3.3 The following conditions are equivalent

- i. $mN(X, Y) = 0$,
- ii. $m[FX, FY] = 0$,
- iii. $mN((F^2 + F)X, Y) = 0$,
- iv. $m(F^2 + F)FX, FY] = 0$,
- v. $m[(F^2 + F)lFX, FY] = 0$.

where X and Y are vector fields.

Proof: We have to show that

(i) \Leftrightarrow (ii)

Let $mN(X, Y) = 0$. Then in the perspective of equation (7), we have

$$mN(X, Y) = m[FX, FY] - mF[FX, Y] - mF[X, FY] + mF^2[X, Y],$$

since $mF = 0$, we have

$$mN(X, Y) = m[FX, FY],$$

since $mN(X, Y) = 0$, then

$$m[FX, FY] = 0,$$

Thus,

$$mN(X, Y) = 0 \Leftrightarrow m[FX, FY] = 0.$$

(ii) \Leftrightarrow (iii)

Let $m[FX, FY] = 0$. Then in the perspective of equation (7), we have

$$\begin{aligned} mN((F^2 + F)X, Y) &= m[(F^2 + F)FX, FY] - mF[(F^2 + F)FX, Y] \\ &\quad - mF[(F^2 + F)X, FY] + mF^2[(F^2 + F)X, Y], \end{aligned}$$

since, $(F^2 + F) = -l$, $mF = 0$, then above equation becomes

$$mN((F^2 + F)X, Y) = m[-lFX, FY] = -m[FX, FY] \text{ as } lF = F,$$

since $m[FX, FY] = 0$, then we have

$$mN((F^2 + F)X, Y) = 0,$$

Thus,

$$m[FX, FY] = 0 \Leftrightarrow mN((F^2 + F)X, Y) = 0.$$

(iii) \Leftrightarrow (iv)

Let $mN((F^2 + F)X, Y) = 0$ and using $mF = 0$. Then we have

$$mN((F^2 + F)X, Y) = m[(F^2 + F)FX, FY],$$

since,

$$m[(F^2 + F)FX, FY] = 0$$

Thus,

$$mN((F^2 + F)X, Y) = 0 \implies m[(F^2 + F)FX, FY] = 0.$$

(iv) \Leftrightarrow (v)

Let $m[(F^2 + F)FX, FY] = 0$ and using $lF = F$, $Fm = 0$. Then we have

$$\begin{aligned} mN((F^2 + F)lX, Y) &= m[(F^2 + F)lFX, FY], \\ &= m[(F^2 + F)FX, FY] \text{ as } lF = F, \end{aligned}$$

$$\text{So } m[(F^2 + F)lFX, FY] = m[(F^2 + F)FX, FY],$$

$$\text{As } m[(F^2 + F)FX, FY] = 0,$$

Thus,

$$m[(F^2 + F)FX, FY] = 0 \implies m[(F^2 + F)lFX, FY] = 0.$$

(v) \Leftrightarrow (i) Let $m[(F^2 + F)lFX, FY] = 0$.

Making use of (2) and (3), we obtain

$$m[-l^2FX, FY] = 0,$$

$$-m[lFX, FY] = 0'$$

$$m[FX, FY] = 0, \text{ as } lF = F,$$

Since $mN(X, Y) = m[FX, FY]$ as $m[FX, FY] = 0$,

$$mN(X, Y) = 0,$$

Thus, $m[(F^2 + F)lFX, FY] = 0 \implies mN(X, Y) = 0$.

This completes the proof.

Proposition 3.4 If $(F^2 + F)^{\frac{1}{2}}$ acts on D_l as an almost complex structure, then

$$m[(F^2 + F)lX, FY] = m[-X, FY] = 0. \quad (13)$$

for every vector field X, Y on M .

Proof: From equation (5), we know that $(F^2 + F)^{\frac{1}{2}}$ acts on D_l as an almost complex structure then equation (13) follows in an obvious manner. To prove that $m[(F^2 + F)lX, FY] = 0$, by using the formula $[X, Y] = XY - YX$ where X, Y are C^∞ vector fields and equation (5), we obtain equation (13).

Proposition 3.5 For $X, Y \in \chi(D_l)$, we have

$$l([X, FY] + [FX, Y]) = [X, FY] + [FX, Y].$$

Proof: By Definition (2.1), we have

$$[X, Y] = XY - YX$$

Now,

$$\begin{aligned} l[X, FY] &= l(XFY - FYX) \\ &= X(lFY) - (lF)YX \\ &= XFY - FYX, \text{ as } lF = F, \text{ using equation (4)} \\ &= [X, FY] \end{aligned}$$

Similarly, $l[FX, Y] = [FX, Y]$,

Hence,

$$l([X, FY] + [FX, Y]) = [X, FY] + [FX, Y].$$

Theorem 3.6 The integrable quadratic structure satisfying equation (1) on M defines a CR-structure H on it such that $ReH \equiv D_l$.

Proof: To prove the quadratic equation satisfies equation (1) defines CR-structure on M it suffices to prove $[P, Q] \in \chi(D_l)$.

From equation (8), we have

$$[P, Q] = [X, Y] - [FX, FY] - \sqrt{-1}([X, FY] + [FX, Y]). \quad (14)$$

Now,

$$\begin{aligned} [P, Q] - \sqrt{-1}F[P, Q] &= [X, Y] - [FX, FY] - \sqrt{-1}([X, FY] + [FX, Y]) \\ &\quad - \sqrt{-1}F([X, Y] - [FX, FY]) - F([X, FY] + [FX, Y]). \end{aligned}$$

Making use of Theorem (3.5) and equation (9), we obtain

$$\begin{aligned} [P, Q] - \sqrt{-1}F[P, Q] &= [X, Y] - [FX, FY] - \sqrt{-1}(F^2 + F)([FX, FY] + F^2[X, Y]) \\ &\quad - \sqrt{-1}F([X, Y] - [FX, FY] - \sqrt{-1}(F^2 + F)([FX, FY] + F^2[X, Y])), \end{aligned}$$

by definition of CR-structure, we have

$$[P, Q] \in \chi(D_l).$$

This completes the proof.

Definition 3.1 Let \tilde{K} be the complementary distribution of $Re(H)$ to TM . We define a morphism of vector bundles $F : TM \rightarrow TM$ given by $F(X) = 0$ for all $X \in \chi(\tilde{K})$, such that

$$F(X) = \frac{1}{2}\sqrt{-1}(P - \bar{P}) \quad (15)$$

where $P = X + \sqrt{-1}Y \in \chi(H_p)$ and \bar{P} is a complex conjugate of P ⁷.

Corollary 3.1 If $P = X + \sqrt{-1}Y$ and $\bar{P} = X - \sqrt{-1}Y$ belong to H_p and $F(X) = \frac{1}{2}\sqrt{-1}(P - \bar{P})$, $F(Y) = \frac{1}{2}(P + \bar{P})$ and $F(-Y) = -\frac{1}{2}(P + \bar{P})$, then $F(X) = -Y$, $F^2(X) = -X$ and $F(-Y) = -X$.

Proof: On using Definition (3.1), we have

$$\begin{aligned} F(X) &= \frac{1}{2}\sqrt{-1}(X + \sqrt{-1}Y - (X - \sqrt{-1}Y)) \\ &= \frac{1}{2}\sqrt{-1}(2\sqrt{-1}Y) \\ F(X) &= -Y. \end{aligned} \quad (16)$$

On operating F both sides of equation (16), we obtain

$$F(F(X)) = F(-Y). \quad (17)$$

But

$$F(Y) = \frac{1}{2}(X + \sqrt{-1}Y + X - \sqrt{-1}Y),$$

which on simplifying gives

$$F(Y) = X.$$

Also,

$$\begin{aligned} F(-Y) &= -\frac{1}{2}(X - \sqrt{-1}Y + X + \sqrt{-1}Y) \\ &= -X. \end{aligned} \quad (18)$$

Combining equations (17) and (18), we get

$$F^2(X) = -X.$$

Theorem 3.7 If M has a CR-structure H , then we have $F^2 + F + I = 0$ and consequently the quadratic structure is defined on M such that the distributions D_l and D_m coincide with $Re(H)$ and \tilde{K} respectively.

Proof: Suppose M has a CR-structure on M . Then in view of Definition (3.1) and Corollary (3.1) we can write ⁷

$$F(X) = -Y; . \quad (19)$$

Operating equation (19) by $F + I$, we get

$$\begin{aligned} (F + I)F(X) &= (F + I)(-Y) \\ &= F(-Y) - Y = -X - Y \\ &= -X + F(X), \text{ as } FX = -Y \\ &= F^2(X) + F(X), \text{ as } F^2X = -X \\ &= -X, \text{ as } F^2 + F + I = 0 \\ (F + I)F(X) &= -X, \\ (F + I)F &= -I, \end{aligned}$$

Hence,

$$F^2 + F + I = 0.$$

References

1. A. Bejancu, Geometry of CR submanifolds, D. Reidel Publishing Co., Dordrecht (1986).
2. A. Bejancu, CR submanifolds of a Kaehler manifold-I, Proc. Amer. Math. Soc., 69 (1978), 135-142.
3. D.E. Blair and B.Y. Chen, On CR-submanifolds of Hermitian manifolds, Israel J. Math., 34 (1979), 353-363.
4. B.Y. Chen, Geometry of submanifolds, Marcel Dekker, New York, (1973).
5. S. Dragomir, M. H. Shahid and F.R. Al-Solamy, Geometry of Cauchy-Riemann Submanifolds, Springer Singapore, (2016).
6. Lovejoy S. Das, Submanifolds of F-structure satisfying $F^K + (-)^{K+1}F = 0$, Internat. J. Math. Math. Sci., 26 (2001), 167-172.
7. Lovejoy S. Das, On CR-structure and F-structure satisfying $F^K + (-)^{K+1}F = 0$. Rocky Mountain Journal of Mathematics, 36(3) (2006), 885-892.
8. M. N. I. Khan, Complete and horizontal lifts of Metallic structures, International Journal of Mathematics and Computer Science, 15(4) (2020), 983-992.
9. M. N. I. Khan, Quarter-symmetric semi-metric connection on a Sasakian manifold, Tensor, N.S., 68(2) (2007), 154-157.
10. M. N. I. Khan, Novel theorems for the frame bundle endowed with metallic structures on an almost contact metric manifold, Chaos, Solitons & Fractals, 146, May 2021, 110872.
11. M. N. I. Khan, Tangent bundle endowed with quarter-symmetric non-metric connection on an almost Hermitian manifold, Facta Universitatis (NIS) Ser. Math. Inform., 35(1) (2020), 167-178.
12. M. N. I. Khan and J.B. Jun, Lorentzian almost r-para-contact Structure in Tangent Bundle, Journal of the Chungcheong Mathematical Society, 27(1) (2014), 29-34.

13. M. N. I. Khan and Lovejoy S. Das, ON CR-structure and the general quadratic structure, *Journal for Geometry and Graphics*, 24(2), (2020), 249-255.
14. B. B. Sinha and R. Sharma, On a special quadratic structures on differentiable manifolds, *Indian J. Pure Appl. Math.*, 9(8) (1978), 811–817.
15. K. Yano and Masahiro Kon, Differential geometry of CR-submanifolds, *Geom. Dedicata*, 10 (1981), 369-391.